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o FUT FT BT FF 5 I9T-79 § GRT §T 15 79 797 14 &

Please make sure that the printed pages in this question paper are 15 in number
and it contains 14 questions.

o Jo7-7H ¥ e & @ G T T8 FS TET Tl § H OH F-Yikaw F FEI-g8 97
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF F9T FH TV [iET J@ VT G Yee, F9T H B AT [
Before beginning to answer a question, its Serial Number must be written.
o Fuv-gikaw & & @] g~,/9+ T 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel A o SEvIRagar & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1208/(Set : C) P.T.O.



(2) 1208/(Set : C)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford sile defegs 7ot & IRl 9T Rl @I @7 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FuT 37 @ {4 & GEAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
() o797 G G - & § & 97 T 7 der T 8
The question paper is divided into four Sections - A, B, C and D.

(i) T~ B Fo7 @& 1 § 1 3% % 10 FGTT 597 &1

Section-A consists of question no. 1 has 10 Objective Type Questions of 1

mark each.
(i) G -F 71 5% &4 ST TLTOT F97 &1

Section-B consists of 4 Very Short Answer Type Questions of 1 mark each.
(iv) -7 52 3% %5 TgT0T 597 &1

Section-C consists of 5 Short Answer Type Questions of 2 marks each.

(v) GUE-§ F STdRF [A%cT & TIT 4 T8 4 [9r5F F97 &

Section-D consists of 4 Essay Type Questions of 4 marks each with internal
choice.

1208/(Set : C)



(3) 1208/(Set : C)
gUg - 3

SECTION - A
1. @9 offFqrd 2 IR 9% 1 3% H Bl 1%x10=10

All questions are compulsory and carry 1 mark each.

(i) <STET T H TH [T HiaH § 999 Bl AF I 1 & ¢ g SQL %aRM &

YA fRer ST B 7
(A) LEAST () (B) MIN ()
(C) SMALLEST () (D) BOTTOM ()

Which SQL function is used to retrieve the smallest value from a specific
column in a database table ?

(A) LEAST () (B) MIN ()

(C) SMALLEST () (D) BOTTOM ()

(i) el IsUS § eewfcis ew & fw BB HTML 1 &1 9T fhar omar ® 2
(A) <u> (B) <h>
(C) <a> (D) <p>
Which HTML tag is used to create a hyperlink in a Webpage ?
(A) <u> (B) <h>

) <a> (D) <p>
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(i) IR elements "P", "Q", "R" ;X "S" F Tk stack ¥ @I ST ¥ ;X TH I) F &
f o &, @ S | %W | semn s ?

(A) PRSQ (B) RSPQ
(C) SRQP (D) PQRS

If the elements "P", "Q", "R" and "S" are placed in a stack and are deleted

one at a time, in what order will they be removed ?
(A) PRSQ (B) RSPQ

(C) SRQP (D) PQRS
(iv) FTP & JU M &1 & ?
(A) BT TRY HEET

(B) HU CRE WA

(C) BT BT Ml

(D) B M e
What does FTP stand for ?
(A) File Type Processor
(B) Full Text Processing
(C) File Transfer Protocol

(D) Fast Transmission Protocol
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3 T T SR, AW & A9 & 1 § T1 a1 2

........... unary operator, increments the value of the operand by 1.

L6 I T P ITNT HTML & IRe Fl SIET@RA F1 & oY fFar s 2
............. Tag is used for making the text underline in HTML.

(vi) HTML § <hl> &7 % IQET FAaH &/ G99 HH Few@qel vd & R &1 &
foe fepar St 21 (7] 7))

The <h1> tag in HTML is used to define the least level/the least important
heading. (True/False)

(viii) EFR % PR SFERS S TR & Prad [ Se1 T-Y & aRued & d9d ol
() 577

Structure is a user-defined data type that can contain variables of different

data types. (True/False)

3T - 79 Ry 7@ g9 (ix TF x)7, SH¥HYT (A) 37T B (R) % &Y F [Az77 & %97 &
9% 597 7 Ha Ry 10 et § @ @& Awey &1 797 B -

Direction : In the questions (ix and x) given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct option out of the

choices given below in each question :
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(ix) SIEEE (A) : SQL # YU &9 Simple Query Language

RO (R) : SQL FT IR Ry Sead & a1 B o i} el & & fow g
ST B

(A) B (A) AR FROT (R) A 98 § X 3R (R), ARwEE (A) 98 e
2l

(B) Ifmmed (A) R PRI (R) I 98 & 3R ®RY (R), ST¥HeH (A) &l T& e
T R

(C) STH (A) T &, AP PR (R) 7T 2l

(D) SIRIFE (A) ST B, Ak BT (R) T B

Assertion (A) : The full form of SQL is Simple Query Language.

Reason (R) : SQL is used to retrieve and manage data in relational

databases.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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(x) SREREE (A) : T URL (FF%M REM @i®ex) e W TF 9909 & 9o & a6 o

HROT (R) : 9 SS9 ace dgs 99 § d9US Pl §e AN M & & ¢ URL &

SUENT FHXA 2
(A) AR (A) X BRI (R) AT T2 B o #RT (R), S1BeM (A) &l T8 =re
2l
(B) ST (A) 3R HROT (R) AMT €&l § R RO (R), IRHEE (A) &l T2 e
T R

(C) STHI (A) T B, AfPA PR (R) 7T 2l

(D) SIRFE (A) ST B, Ak BT (R) T B

Assertion (A) : A URL (Uniform Resource Locator) is like the address of a
webpage on the internet.

Reason (R) : Web browsers use URLs to locate and retrieve Webpages from
the World Wide Web.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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gUEg - §

SECTION - B

Note: @ 9s offgrd 21 7% U9 & 3% 39 9MA Ry T &

All questions are compulsory. Marks are indicated against each question.

2. PHE IR B HEIEX H 9 Sq 1
Name any two types of constructor.

3. 2NF &l qReifya @i 1

Define 2NF.

4. SQLH 5l 3sa & 31 S & T SUGI & 99 @il INSERT &Hi8 &l e g 1

Write the syntax of INSERT command in SQL used to insert data into a table.

5. C++d “BR” qu & Reaq o 1
Write syntax of "for" loop in C++.
que -9
SECTION - C

Note: @49 o9/ B Y% 9 3 i SH& A U MU 2

All questions are compulsory. Marks are indicated against each question.
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6. C++ ¥ UF I & 96Y Uh HRM H Y TRWNT fFT S 6l 2, 39 T I & 91

| 2
Explain, with an example, how to define a function outside a class in C++.
7. HTML & 39T % Th JsU9 ¥ image P HA NS Thd & 7 2

How to add image in a Webpage using HTML ?

8. COUNT () BN 3R 30 fedd H SQL § I afed Twemgy| 2
Explain COUNT () function, its syntax in SQL with example.

9. 124 F&M H TH BE WAl & FPERA WS & AR F A T Aol | HH F T B
98 JEERCT B WA H 8, T8l FRVT & 6 98 F & a1 (et fedl & ITN Bl
Bl 98 A FYX W TF TS9R & SUANT Hb (A~ dedRel &l O & @l 51 8@ &
9 I H ST P IGEEC b B AEEH § P 99 Txad (T) H G B § SR
AT Ao B G FAl B

(SR STBR & STER T I 1) 2

A 12th-class student is working on her school project about eco-friendly
practices. She cares about the environment, which is why she uses digital copies
instead of paper. She is exploring different websites using a browser on her
computer. She explores many web addresses through website links using a
search engine and completes her project.

(Give answer based on the above information)

(i) fr=fafea § @ 29 t SS9 & & § ?

(A)  HEshIEE a8
(B) T HH

(C) TS WIS
(D) U Bresiic
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Which of the following is an example of a browser ?
(A) Microsoft Word
(B) Google Chrome
(C) Adobe Photoshop
(D) Excel Spreadsheet
(i) SEA O Aoige & U T I B S ;i fHar ?
(A) fefted e a9 & foT
(B) Wode ®idt Tfee & & faw

(C) o & et Tl < A & Y
(D) Siae TR H FARIT HA & [T

Why does she use search engine for her project ?
(A) To draw digital pictures

(B) To edit project photos

(C) To find relevant information quickly

(D) To organize project files
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10. 'student data' eE¥ ¥ 'Student_Course' AHE = TG & THE A : 2

Examine the following table named 'Student _Course' from the 'student data'

database :
Stu_ID Stu_Name Stu_Course
101 A Hindi, Maths
102 B Hindi, Bio
103 C Computer, Bio
104 D Computer, Maths

(i) T s R A B (INF) § & ?
(a) &
(B) &
(C) TeiRa =& fpam S Hepa
Is the given table is in First Normal Form (1NF) ?
(A) Yes
(B) No

(C) Cannot be determined
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(i) B AWT BH (INF) B e e @@ 2 ?

(A) U HiH H Tk A AE AW

(B) Ud% e ¥ I-uif A

(C) Y% HicH H TiHeh/Thdd A

(D) T & K T

What is the key characteristic of First Normal Form (1NF) ?

(A) Multiple values in each column

(B) Non-atomic values in each column

(C) Atomic/Single values in each column
(D) None of these

Tgan
OR
ISR b G SQL ¥ fhddl it & DDL Commands &l && $R

Explain any two DDL Commands in SQL with example.

1208/(Set : C)



(13) 1208/(Set : C)
goEg - T

SECTION - D
11. C++ ¥ zRRET # TRwig 3 ol fiE, Aciud R Aiclad gieied &l e & 4

Describe Inheritance in C++ and explain Single, Multiple and Multilevel

inheritance.
37T
OR
C++ H fetgdaey &1 STaaReT P U% SUGH WHT IaTe F are o 4

Explain the concept of a destructor using a suitable programming example in

C++.

12. ST EFR  AMEX #4057 AR § § 0 o 39E 0 % Y 0@ oenieA e
AR gHEm| 4

What is a linear queue in data structure ? Write and explain an algorithm to

insert an element into a linear queue.

3TeE

OR
gifdT a1 B ? 999 9 H IS G o @ 9HEET 4

What is sorting ? Explain Bubble Sort in detail with example.
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13. SDLC # & ? SDLC & fl &7 =l il ek & w9emsy) 4
What is SDLC ? Explain any three phases of SDLC in detail.

e
OR
e @ aare &Y 4
(a) =N T AT
(b) e M 2T
(0 3fe 2R
(d) EEWIE R

Explain the following :
(a) Black Box Testing
(b) White Box Testing
(¢) Unit Testing

(d) Integration Testing

14. JeaisT § TCP/IP Wied &1 [FeX 3 o} 39 died & fhel & 9aY &1 HEuv H qoem|
4

Describe the TCP/IP model in networking and explain the workings of any two

layers of this model.
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TR 1 e ®Y 4

Explain the following :

(@) LAN
(b) MAN
(© WAN
(d) WWW
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